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QuesTioN1  Find the area of each of the following triangles correct to one decimal place.

a b A
2cm
Area = | x 4xS x in 50 Arn= L x 3x2 mm30

r 2
Ares - S Afea = 1.5 om*
13

QuEsTION 3
a  Find the area of the parallelogram ABCD. b  Find the area of the trapezium ABCD.

D l().cm C __h

A 123cm B

D a3 C A60° 60° B
Area: 2 x (lzxmx Q-SXMSO) Afm: ZK(M W) + Ox §
2
Area = 89.5 ow® orAD. tanbp=6 m A=_C

Find the total area of this figure.
correct to the nearest cm?.

Aea = LxSx13om 6F + LxSx€xnmbF
2 2

A= 4 67 » (52 ; 15)
So Mrea = 6] cw?
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e

/ v\ A regular hexagon has been inscribed in a circle
with centre O and radius 4 cm. Find the area of
\\ A / the hexagon, without the use of a calculator.

T on in Mad ronales , m&. 360 -60°
The. QUo.a Madi ar 6§ 1 3&4 /o u»?ﬂv. .
The Area »‘L ead trianghe i Ji<4x4xm€0=3méo
by o oxoct whe {meoiprg/z,/%‘amué

: ‘ ‘ - 8\3 _
el {MM?&V w &8 x o0 = _\g’_-#B

(Wu.n, oxe b iz\m\?ﬁw/ 0w He totd area o 6x 4@.—.—24-\5“(2

Show, by trigonometry, that the area of an equilateral triangle s cm

of side s cm is given by the formula A = ?.93.

sSCm sem
TRL/A 0w an Q,a‘\LLQo:\—nAaQ MBQQ y /0
eod.  ulumion a»ZQL w €0°

XA XA % b0 &rmw:g

A(Ca :,’_
pA

5 Aea = LA B adick 1 I
2 2 4
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Prove the identities:

O-|cscO secOd = sinelcosﬁ @gcsce tan = ﬁg
O=1_x1_ g ®=_1 _ « anb J
HMnD o6 AinG o b
S0 = | S®= L
w0 e & / | o & /
_: sec® +csc@ = Ldiooh C-sec 0 —cos® = cé,sze
::,_’__,‘F_l___ €cn O
=0 2unb
S®_ mb + @b @___ | - w®*b
\/ Buj' MMZB'F @26 = ’
o w26 = aw?b
500© = An?b
). [¢23 9
@;; (1 —sin 0)(1 +sin 0) = (cos 9) H‘ff,’;% =cot 8 ,
Gy We Rao ok ®= ' Vo za,;gw
(0 -b) (& +b) = at-b* o il Ly i
@;(’—m@):l—m 50@‘: 1
Bk w6+ 26 = | 1ok

A0 ,"/IEALZ(S: lee \UQ;&G\VA ot 8
§o @: (@ZQ / | @ = C,Ot g v
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Prove the identities:

@;ﬁ(l + tan* 0) cos*0 = 1
=[1+ 2?0 \ 2?6
@ { cm‘O)
?O
SD®: C{Dze + /)V\\Le

W?J.(R%\r% ] @-‘—’

@;mze + a0 x}l/a

@:co.920 — sin*0=1-2sin’0

Wl faow w0 + 2?6 = |

A0 ('(ng; ‘—A’iﬁ\ze
So@: | - 528 - An*6

© = 1 -2 ain*6
@

@; tan*® cos0 + cof’ sin®0 = 1

®:%QV6+—C£-9—?‘M
G

{3 cos26—2=1-3 sin6
W Awow 20 + a6 =1

>0 Mo @H= | = A8
@;—_ /20 4+ ?bB @;5(’—‘/&%16)—2
S @ = ()= 2 - 3mn?6 -2
1% ®= | -3sw>6
©
@:: seC(pltan(p - sechl—tan(p - 2tanq) 1+;in(p + l—slin(p =2S602(p
P@: C/gﬁckp'*foxkp)-(/é&?—fm\@s ®= ("/B‘VK\M"'('-{-/A\M(P)
(dec @ - ton®) (2ecP Hou ¥) (14400 (1 = i ¥)
D-__ Ztu? ®-_2
necltP — taat ¥ | — ¥
Bub: pectl-120. | _ #2¢ |0 = _Z
2’0 m:pcp 2 @
t() () _ l_ml
SD /)Cx—(p fox (p- T gn @: 2 2 (p

Ceo
%zq)_mz(o = @ _

2

SO @ = 2,""04\\?
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